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01 At 22l 4,000 3,000 1,000
Olget+=gHl] 4,000
OxSdAZE SAFXE EX UM 7
2,000,000& * 23] 4,000
02 55244l 2,000 480 1,520
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SN SRR
HE: DEBF WA
o9l DEUHSY EEREY
SIE] .
SAH-28 .- 20(80) - HEAMNE - BES Oil &4 oﬁuéo% Hus2
OlZ=2= 2 MA 2.000
OBYFINE M3 L +5R3
2,000,008 * 14! 2,000
401 A& HI LS THEI 70,000 50,000 20,000
01 Al& bl 70,000 50,000 20,000
OBYFIUE RNS4(HLHH)
15,000,0002 = 14} 15,000
OSRBY LAFXAQ £X L &I
5,000,008 * 14 5,000
OHLHME YAFIE SX(HLHH)
50,000,008 * 14} 50,000
=R BN M ALY 1,115,000 980,000 135,000
X 1,015,000
2 100,000
401 A& HILR I 1,115,000 980,000 135,000
py 1,015,000
2 100,000
01 Al& t 1,096,324 955,670 140,654
OFXBANLAY  1,096,324,0002 * 14 1,096,324
X 996,324
2 100,000
02 22l 15,022 18,610 £3,588
OFXBZH LA DAY
15,022, 0008 * 14! 15,002
X 15,022
03 Al & S CHH| 3,654 5,720 £2,066
OFXBBMLAL AlL 2]
3,654,008 * 14l 3,654
X 3,654
SHMYX 5,860,517 4,950,532 909,985
2 128,900
< 315,916
2 5,415,701
THE Xl & 526,532 822,757 £.296,225
= 206,532
= 300,000
307 2I12H0| & 526,532 822,757 £.296,225
< 226,532
2 300,000
09 24QAHBES 526,532 822,757 £.296,225
OS0ZHA HEXAZ (01 SAL)
526,532, 0002 * 14 506,532
< 206,532
2 300,000
ESNPY 444,384 686,315 £241,931
< 44,384
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AR PN DS [y
Hu: DEHF A
CHel: 2LAKIR ECR-T
= = ZH ol(s = =] OH & =2t
= 400,000
307 eI1ztol ™ 444,384 686,315 241,931
< 44,384
= 400,000
09 =+gAHEES 444,384 686,315 £241,931
O8N 242 A3(012AY)
444 384,000 * 14 444,384
< 44,384
= 400,000
=FUXA 3,000,000 2,000,000 1,000,000
307 QI2tol M 3,000,000 2,000,000 1,000,000
09 2+HAEEXS 3,000,000 2,000,000 1,000,000
O2=+=2H =50 X&
3,000,000,000& = 14! 3,000,000
SEHAXA 172,500 115,000 57,500
= 30,000
= 142,500
307 QI2tol ™ 172,500 115,000 57,500
= 30,000
= 142,500
09 2+HAHAELS 172,500 115,000 57,500
O3dd A X 172,500,000& = 14l 172,500
S 30,000
= 142,500
HAEDIE 22H N& 20,000 88,000 268,000
402 QI XHE 01N 20,000 78,000 £58,000
01 It EME E (KM ) 20,000 78,000 258,000
OSLHOIE S3ME ArZHl K&
20,000,000& * 1JHZA 20,000
ELAIXI & A 664,761 674,960 210,199
= 108,500
< 15,000
= 541,261
201 et2SEHI 96,160 97,760 21,600
01 At 2t el 96,160 97,760 21,600
Olger=g4l] 18,160
O 100 &Al 0123 M=
4,40008 = 200& » 120H&E 10,560
O0tSZ DR M 2 AREE P
500,000& = 14! 500
OEANZXEE S
70,0003 = 5& = 63l 2,100
oZZde iz = M= - 23
100,000& = 50CH 5,000
OZZH 2D 100,0008¢ « 7804 = 10& 78,000
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A EXE M
M e e
€T 2AMEXR EERE
. MEC -
2A - M- A(3A) - HRAY - HES Oil &4 Ol Aot Hus2
202 44l 1,200 1,200 0
1 = LHOIHI 1,200 1,200 0
O1003 Al 28 XNEHE 0l
20,000& * 2021 » 30 1,200
301 L EAZ 555,000 555,000 0
= 108,500
< 15,000
= 431,500
09 EAtAHIEAS 5,000 0 5,000
OHAI2E £8g 8 48X A&
5,000,000& * 14 5,000
1IJIEt2 43 550,000 555,000 25,000
O1003 A 0Ol20 OHE 243
250,000,000& * 14 250,000
= 50,000
< 15,000
= 185,000
LAl 23 24| 30,000,000& * 10CH 300,000
= 58,500
=z 241,500
307 eI2tol & 7,986 0 7,986
02 QIZtZAASEE R 7,986 0 7,986
OEAl JtEH2)] SdE K&
5,5009 * 121CH » 12& 7,986
403 XX SIS X201 & 4,415 11,000 26,585
02 BII2SUHEHHE X 2 EF AL I 4,415 11,000 26,585
OHANSHH B2 A A 2=
4,415 ,000& * 14 4,415
HA2sAY K& 870,440 412,800 457,640
201 2 er2AY| 36,120 10,800 25,320
01 AFS2telt] 17,400 0 17,400
Olgera=g4l] 14,000
OsHEHA HHUHZ2 DS HME 23
500,000& = 28CH 14,000
olgxa] 3,400
OSHHOIE 018X AS /st 22X Xz
3,400,000 * 14 3,400
02 232l 18,720 10,800 7,920
OHAZTEAIAG(BIS) AHEHLI SHR3
15,0003 « 28CH * 128 5,040
OHAZBAIAE(BIS) A0 SARZ
23,000& * 10CH ~ 12& 2,760
OHAHBAIAE(BIS) HII2
25,0003 * 1004 + 12& 3,000
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2A: EXFE M D
Hu: DEHH N
ol 2aAxg (ool @
S EH . G9(E) - NIRAY - BAS Ofl &k 0 g‘,g% HRE2
OHAZEAAE(BIS) SXIE4H|
660,000& * 12& 7,920
202 4 Hl 2,000 2,000 0
01 2L HI 2,000 2,000 0
O[=2Wodl] 2,000
O XXM A& NESR HXIOHY
125,000 * 49! * 43| 2,000
307 2I2+0| & 790, 320 400,000 390,320
02 DIZHAAMAIE E X 40,320 0 40,320
Os0EHA IJHHEAIEHI] X K&
1,800,000& » 28CH * 80% 40,320
09 2xgAHEEX2 750,000 400,000 350,000
O1,0008 HA 280 [HE =aA2A2
750,000,000 x 14! 750,000
308 XX SHHIS Ol & 9,000 0 9,000
07 REXICGHH2IEE 2 9,000 0 9,000
OHAESB A AIAE (BIS)HEH SX| 22/
9,000,000& = 14! 9,000
401 AIEHIZL 20| 33,000 0 33,000
01 Al& I 33,000 0 33,000
OHASZZE HACHHSZD] & X
11,000,000& * 304 A& 33,000
Ol BEIA 2H 121,100 150,700 A 29,600
201 Lt | 700 700 0
01 AP 22/ H| 700 700 0
ODEATOISHOSHSRE B4 4T
70,000& * 521 * 23| 700
202 o4 8| 400 0 400
01 2L Y] 400 0 400
OXHCIBEA 28 XNTEH G|
20,000 * 2021 = 10 400
307 el2to| & 120,000 60,000 60,000
05 QI2tREZ 120,000 60,000 60,000
OXCISEHA 22 30,000,000 * 404 120,000
AZO0IEZDEX &F N 40,800 0 40,800
= 20,400
= 20,400
402 SI2v X201 & 40,800 0 40,800
= 20,400
= 20,400
01 QIZHXI=AIY B (AAHHH) 40,800 0 40,800

- 352 -




A EXHZ M

X XH -
(=i

wnsHE o

el SEMSTHE

SH - B ER(E) - NSAY - BES ol & S HIRE2
OAMEE g U20lgd X & NALX
2 40,800,000& * 14 40,800
= 20,400
i 20,400
HWEHM AL 2tel 603,728 640,640 236,912
WSt AlE S 2el 441,388 550,040 £108,652
201 £er= gl 127,880 124,900 2,980
01 At 2t2l bl 10,280 7,300 2,980
OUSALINEY ZScHots M=
70,0002 * 4004 2,800
OLSADY OIM M= 4,4008 = 20004 880
ORSASIAHALHY 242
55,0008 * 120042 6,600
02 s5=4Hl 117,600 117,600 0
Oustlss &dJles
65,000& * 140044 + 12 109,200
OuNXZI2UIEHEAMAY 30 MEZ
100,000& » 7004 « 128 8,400
202 o4l 1,200 1,200 0
01 2Ll 1,200 1,200 0
OUSATAIEE & OHl
20,000& * 22! = 30¢ 1,200
307 21Ol 12,000 12,000 0
02 UABLUMNEES 12,000 12,000 0
OleAB LML E] 12,000
O WSIEEAM ¥ WEAD ol BH
7,000,000 = 14 7,000
O Ol20ItHY nEEAHA2S &M
5,000,000 * 14| 5,000
401 Al EHIZ 20 300,308 411,940 A111,632
01 Al&H| 298,500 408,500 110,000
Oonsasd o4 100,000,000& * 294 £ 200,000
OJIEt NEHN A2 £X(EESS)
500,000& = 2094 £ 10,000
Oz3Es UE & RAUES
250,000& » 5671 2 14,000
OCuFZS RANEF SAHI
500,000 = 10074 2 50,000
OusetdEXE &1 300,000 = 15Jf 2 4,500
Ok® WsS4s MOl wH
5,000,000& » 47424 20,000
03 AIE S0 bl 1,808 3,440 21,632
Onsdsll de 200,000,000 * 0.72% 1,440
OZES 4 14,000,000& * 1.08% 152
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S SXHE M
3 WSHy fd
SR WSoHM AL 2t (et &
SH - SA(E) - MRAY - BES 0fl & 4 B HIDE2
OL=2USHUS MO WH
20,000,000& * 1.08% 216
sOEHASHY X 162,340 90,600 71,740
401 Al HIZL R HYI 162,340 90,600 71,740
01 Al & Hl 160,000 90,000 70,000
Osdd ME 50,000,000& * 14| 50,000
Osdd 2+ 1,000,000& * 500 4 50,000
OsZd uH 10,000,000& * 574 2 50,000
OLLF EXNE A& U DA
1,000,000 * 1094 10,000
03 Al& R CHHI 2,340 600 1,740
Oszd 4 100,000,000& * 0.90% 900
Osdd 2+ 100,000,000& * 0.90% 900
Osz2d uH 50,000,000& = 1.08% 540
HH2SZH(SNHZHD) 70,172 54,657 15,515
Jl2Zyi(ger) 70,172 54,657 15,515
SENHIFHY JI=23H 24,252 22,297 1,955
201 €etEg| 13,052 13,097 £45
01 AtR 221l 13,062 13,097 £45
Olget+gl] 9,852
ORM2E SUAY 9,852,000& * 14| 9,852
O] 3,200
ORNEZSE SHAHL 8,000& * 401 « 100& 3,200
202 G4l 6,400 5,000 1,400
01 = LH4HI 6,400 5,000 1,400
ORN2E SAAL 20,0008 = 42 » 80 6,400
203 R =L 4,800 4,200 600
04 FAESYRFLH 4,800 4,200 600
ORNE2g gRF8H 400,000& * 128 4,800
HEZNE Jl=3b 15,720 7,100 8,620
201 223l 10,800 3,500 7,300
01 At 2t2lHl 10,800 3,500 7,300
Olger+24l] 6,000
ORN2g SAXAY 6,000,000& * 14| 6,000
ol=2dl] 4,800
ORNE2E SHAHL 8,000& » 62 » 100 4,800
202 04dl 4,920 3,600 1,320
01 =G LI 4,920 3,600 1,320
O[2U o] 4,920
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SHAR

M HYSHAY (SN2 M)
CHel: J|=AY (e (ehe &9
=] X XH ol(s =] o OH dEAS =Dt
l ORAN2Y ZUAHA 20,0008 * 60 * 41 4,920
I XE J|=2AHH| 10,800 8,100 2,700
201 2gr22| 6.800 4,100 2,700
01 At 22t 6,800 4,100 2,700
Oolgera=gy|] 2,000
OBAN2Y SUHA 2,000,000 * 14l 2,000
Ol==l] 4,800
OBAN2Y ZWAHA 80002 * 60 » 100 4,800
202 Oit| 4,000 4,000 0
01 20 4,000 4,000 0
O[=2LHo ] 4,000
OBRN2Y SUNHA
20,000% * 291 * 100 4,000
NEHHE J|=2AHH| 19,400 8,660 10,740
201 2L er22H| 11,400 4,660 6,740
01 At 22| ] 11,400 4,660 6,740
Olger2g4|] 5,000
OBN2Y ZUH A 5,000,000 * 14l 5,000
Ol=&HI] 6.400
ORAN2Y ZWAHA 8,0008 * 82! » 100 6,400
202 01| 8,000 4,000 4,000
01 2L oI 8,000 4,000 4,000
ORMNSY EUH & 20,0008 * 82! * 502 8,000
HWRS=S(EXZ M) 500,000 0 500,000
R EbE 500,000 0 500,000
HotR EAI|ASHAY 500,000 0 500,000
702 0I2EE2 500,000 0 500,000
01 JI2dE2 500,000 0 500,000
OgeREAIIASHIIZ2 =4
500,000,000 * 14! 500,000
SAIACH 2H 2| 462,000 105,000 357,000
HAMG2N 462,000 105,000 357,000
SAMACT] 222 462,000 105,000 357.000
202 01| 2,000 2,000 0
01 2O I 2,000 2,000 0
OSAAMACT] ZH2AASG ARFZA
20,0009 * 291 = 502 2,000
308 XtXICHHIS 01 & 460,000 0 460,000
11 IIEtRY2 460,000 0 460,000
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